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Discussion and Decision
1. Introduction
In this contribution we analyse if there is a need for any dependencies between Scell-TAT and SCell deactivation timer and conclude that TAT should be stopped when last Scell in the TAG is deactivated. Further, if TAT expires then deactivation timer should not be forcefully stopped.
2. Discussion
It was agreed during last meeting to introduce Time Alignment Timer (TAT) per TA Group. It is expected that sCellDeactivationTimer would remain to be per Scell. 

If deactivation timer and TAT are inter-dependent, then activation would follow time alignment (RA procedure is necessary) for the case where expiry of deactivation timer will result in TAT expiry. Figure below tries to explain possible combinations of interaction between both the timers:
	TAT per TAG
	sCellDeactivationTimer per Scell
	Action

	Running
	Running
	Scell is synchronised and active

	Running
	Expired
	Scell is deactivated.
Any further activation can be performed without performing RA procedure depending on the value of TAT. 


	Expired
	Running 
	 Scell is out of sync so any UL transmission must not be allowed. DL is still possible. 

	Expired
	Expired
	Scell UL is not possible and also DL is not allowed as Scell is deactivated. 


Figure 1: Interaction between TAT and deactivation timer

If TAT is running for a TAG and deactivation timer has expired for a Scell and Scell is the last Scell from a TA group, further activation within TAG would not require RA procedure as UE is UL sync during TAT. But this assumption is valid only if UE velocity and drift do not change and TAT value is realistic. If the value is infinite then this assumption is not valid and UE can be assumed not to be synchronised. So it is better to stop TAT at last Scell deactivation for particular TAG.
If TAT has expired then UE is not UL synchronised and existing handling is applied to flush HARQ buffer and stop UL transmission. But Scell should not be deactivated as DL only transmission could still take place.
Proposal 1:  Stop TAT at last Scell deactivation belonging to a particular TAG. If TAT expires then deactivation timer should not be stopped forcefully as DL transmission is possible.
3. Conclusion

We propose RAN2 to discuss and agree on following proposals:

Proposal 2:  Stop TAT at last Scell deactivation belonging to a particular TAG. If TAT expires then deactivation timer should not be stopped forcefully as DL transmission is possible.
References

1. 36.331
2. 36.321

3. RAN2#75 Chair notes 


































































